BAIRZNDIEE |2EHBORE

ITHREERRE, ITHRERAIERRE KEN #aR:1/2,500

HRAEES 132204A661110057
ERIES REB
FriE AT REE

X 5 5 A I

[ ] twssenxs

- IRKERNERRS (HPERSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR

[ ] zhusoxs

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

Of

TEE

1/2 500

1/ 2 ERE



— B
TRFOADKES = [ZE=EIE) BRERDIELE |2ERHhORE
1. TROBHEIBHONRUHEBESICIVRS TR =
NOREAREDHH ShERENOBKEERL TS, SHATES  |1322008661110057
i i o 2 o 2 2. THREBIERRENI-BTIBREEHTS BIRES ZEB

(M) BB EBHAM00N/ MEEZ 5 XIBEDHEB D 71 DEATEKN/m) (E) HIEESMIMERBZLHXEDHIBED ADZKIMEKN/M) BEYDEES EERDBICHT-Y . LYK — —
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(A) (B) () (D) (B) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)

(1) - - 89.1 1.0 - - 9.2 1.8 - - 89.1 1.0 - - 9.2 1.8

( 2) - - 71.0 1.0 - - 9.6 1.9 - - 71.0 1.0 - - 9.6 1.9

(3) - - 98.8 1.0 - - 9.0 1.8 - - 98.8 1.0 - - 9.0 1.8

( 4) 105.3 1.0 99.4 1.0 - - 11.5 2.3 105.3 1.0 96.1 1.0 - - 115 2.3

( 5) - - 92.3 1.0 - - 9.3 1.8 - - 92.3 1.0 - - 9.3 1.8

(6) 1121 1.0 98.6 1.0 - - 11.2 2.2 112.1 1.0 96.8 1.0 - - 11.2 2.2

7)) - - 90.9 1.0 - - 9.9 2.0 - - 90.9 1.0 - - 9.9 2.0

( 8) 124.8 1.0 99.2 1.0 - - 11.7 2.3 124.8 1.0 98.5 1.0 - - 11.7 2.3

(9) 125.5 1.0 100.0 1.0 - - 13.7 2.7 1255 1.0 97.2 1.0 - - 13.7 2.7

( 10) - - 935 1.0 - - 13.7 2.7 - - 935 1.0 - - 13.7 2.7
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